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RELAÇÃO DO AÇO

Negativos X Negativos Y
Positivos X

Positivos Y

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 84 70 5880

2 5.0 8 319 2552

3 5.0 8 222 1776

4 5.0 84 75 6300

5 5.0 8 87 696

6 5.0 18 235 4230

7 5.0 8 229 1832

8 5.0 8 227 1816

CA50 9 6.3 11 232 2552

10 6.3 8 227 1816

11 6.3 22 220 4840

12 6.3 22 85 1870

13 8.0 41 234 9594

14 8.0 3 62 186

15 8.0 3 160 480

16 8.0 4 170 680

17 8.0 20 319 6380

18 8.0 3 79 237

19 8.0 3 227 681

20 8.0 4 187 748

21 12.5 12 298 3576

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 6.3 110.8 29.8

8.0 189.9 82.4

12.5 35.8 37.9

CA60 5.0 250.9 42.5

PESO TOTAL

(kg)

CA50 150.1

CA60 42.5

Volume de concreto (C-30) = 3.76 m³

Área de forma = 25.08 m²


